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def loopcs (aa, rr, nn): LOOP/Recursive python methods

if (isinstance(aa,int) or isinstance(aa,float)) and \
(isinstance(rr,int) or isinstance(rr,float)) and \
(isinstance(nn,int)) :
if (nn>=0) :
result=0
for ii in range (0, (nn+l1)):

result = result + aa*(rr**ii)
else: result = None
else: result = None

return result

def recursiveGS (aa, rr, nn):
if (isinstance(aa,int) or isinstance(aa,float)) and \
(isinstance(rr,int) or isinstance(rr,float)) and \
(isinstance(nn,int)) :
if (nn<0): return None
else:
if (nn==0): return aa
else: return (aa*(rr**nn)+recursiveGS(aa,rr,nn-1))
else: return None

Loop/Recursive python test prog.

pr1nt{"\n===== Loop geometric series™)

print ("Gs (a=0.5, r= 2, n= 5 -->", loopGS(0.5, 2, 5))
print("Gs (a= 2, r= -2, n= 5 ——>", loopGS( 2, -2, 5))
print("GS (a= 1, r= 'a', n= 5 -->", loopGS( 1, 'a', 5))
print("GSs (a= 1, r= 2, n= -1 —->", loopGS( 1, 2, —1))
print ("\n===== Recursive geometric series")

print("GS (a=0.5, r= 2, n= 5 —-—»", recursiveGs (0.5, 2, 5))
print("Gs (a= 2, r= -2, n= 5 --»", recursiveGs( 2, -2, 5))
print("Gs (a= 1, r= 'a', n= 5 -->", recursiveGs( 1, 'a', 5))
print("GSs (a= 1, r= 2, n= -1 -——>", recursiveGs( 1, 2, =10
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Class Record { Hee K g8 (A1 — 18 classes

String date, mCode, type;

Record(){}

Record(String dd, String mm, String tt) { date=dd; mCode=mm; type=tt; }
} // End of class MedicalInstitution

abstract class VaccinePassport extends Record{
ArraylList<Record> records = new ArraylList<Record>();
void addVaccinePassport(String dd, String mm, String tt) {
records.add(new Record(dd, mm, tt));

}
String printRecord() {
String ss = "";
for (Record rr : records)
ss 4= (" --> " + rr.date + " " + rr.mCode + " " + rr.type + "\n");

return ss;
} // End of printRecord()
} // End of class VaccinePassport

class MyVaccinePassport extends VaccinePassport {
String ID = "AG@08", name="AAAA";
MyVaccinePassport(String ii, String nn, String dd, String mm, String tt) {
super();
ID = ii;
name = nn;
addVaccinePassport(dd, mm, tt);
} // End of Constructor
void printMyRecord() {
System.out.println("Dear " + ID + ", " + name + "\n" + printRecord());
} // End of printMyRecord()
} // End of class MyVaccinePassport

import java.util.Arraylist;

//===== Main Entrance OOP teSt program

public class TestOOP_1 {

public static void main(String[] args) {
// TODO Auto-generated method stub
MyVaccinePassport myVP;
myVP = new MyVaccinePassport("A1234", "Mary", "2021/10/14", "meeel", "AZ");
myVP.addVaccinePassport("2021/11/24", "meee2", "M0");
myVP.printMyRecord();

}
} // End of TestOOP
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